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AO3 RESPONSE 1 - POETRY ANTHOLOGY 

Low Band 2: 4 marks.

Simple focus and basic reference to context.

basic context
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basic 
limited 
AO3

confused

Just in to Band 2: 6 marks.

Awareness but limited reference to context.
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AO3 RESPONSE 2 - POETRY ANTHOLOGY 

context

focus on 
context 
informs 
meaning

links to 
context 
(implicit)

5

oatlem
Line



Top Band 3: 9 marks.
Engaged focus.

reference to 
context and 
compares

implicit 
understanding 
of contexts 6



reference to 
context and 
effect

thoughtful 
reference to 
context

maybe

Band 4: 17 marks.
Thoughtful reference to contexts.
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AO3 RESPONSE 3 - UNSEEN POETRY

implicit 
AO2 
overview

focus on 
mood and 
meaning

blends AOs 
well

purposeful 
focus on 
language 
features

perceptive 
reference 
to effects

sensitive 
close 
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effect
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incisive 
analysis

Tentative 
reference to 
effect / 
meaning

Mid Band 5: 14 marks.

overview 
and clear 
focus

Strong 
AO3
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insightful 
analysis

detailed and 
thoughtful 
reference to 
meaning 
and effect

Low Band 5: 22 marks.

Well focused, insightful, well structured response. 
Clear understanding and reference to meaning and effects.
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AO3 RESPONSE 4 - THE STRANGE CASE OF DR JEKYLL AND MR HYDE

reference to 
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links to context 
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reference to 
text
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11

oatlem
Line

oatlem
Line

oatlem
Line



context without 
reference to 
the text limits 
the response

links to 
contexts

unsupported 
discussion of 
contextual 
issues
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some links 
between 
events 
and 
contexts

Band 3: 18 marks.

Over-reliance on context limits response. Unsupported by text.
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This extract comes from chapter 3 of the novella, “Dr Jekyll was quite at ease”.

Here we are first introduced to Dr Henry Jekyll, and begin to learn of his history 

with Lanyon and Utterson begins to uncover his secrets. In the extract, Jekyll is 

described as “a large, well-made, smooth-faced man of fifty” who invests his time 

and company into “intelligent, reputable men”. In the nineteenth century, a good 

reputation was all a man had, and any form of scandal could wipe it out at any 

moment, leaving him with nothing. Jekyll is a respectable man who surrounds 

himself with other respectable men, and so it comes as a surprise to learn of past 

disputes he has had with his old friend, Hastie Lanyon.

In the extract, Jekyll describes Lanyon as “that hide-bound pedant, Lanyon.” and 
uncovers to the reader that they clearly have had disagreements over Jekyll’s 

“scientific heresies”. Earlier in the novella, in “The search for Mr Hyde”, Utterson 

meets Lanyon to enquire of Hyde. Lanyon says Jekyll “began to go wrong” and 

calls his studies of transcendental medicine “unscientific balderdash”. This may 

reference the religious context of the nineteenth century, and the fear that was 

possessed of the unknown and the unnatural. Science and religion were in conflict, 

the Bible and Darwin’s theory of evolution butting heads, and this may explain 

Lanyon’s distaste for Jekyll’s work.

“The Strange Case of Dr Jekyll and Mr Hyde” is an epistollery, and so secrets and 

enigmas are surfaced and solved through the use of letters and documents. It is 

not until “Lanyon’s narrative” and "Henry Jekyll's Full tatement of the Case" that 
Utterson and the reader reveal the extent of Jekyll's secrets. In "Lanyon's 
Narrative" we learn of the transformation and the links between Jekyll and hide, 
and that it has “shaken [Lanyon’s] life to the roots”. Hyde describes the 

transformation as “a prodigy to stagger the unbelief of Satan” which, as Hyde is in 

fact Jekyll, positions Jekyll as arrogant and prideful, qualities undesired as a 

respectable gentleman.

This arrogance is echoed in Jekyll’s “Full Statement of the Case”. He describes 
Hyde as “an unknown but not an innocent freedom of the soul” communicating that 

the restrictions of a gentleman in Victorian society are too great for him to stick to. 

This constructs Jekyll as selfish, though possibly more so to a modern-day reader 
than a Victorian one as those from the same time period would understand his 
position and have the ability to empathise. Jekyll's arrogance is portrayed via the 
praise he gives Hyde in utter disreguard of his misdeads - "I felt lighter, younger, 
happier in body" - though he does seemingly recognise the singul evil he has 
released into the world – “all human beings as we meet them are commingled out 

of good and evil, and Hyde, out of the rankings of mankind, was pure evil.”

By the end of the novella, Jekyll feels remourse for what he did, and recognises his 
mistakes – “I bring the life of the unhappy Henry Jekyll to an end”. The question of 

whether to sympathise or not is left to the reader, as Utterson is not given a final 

say, a clever device on Stevenson’s part. The secrets and enigmas that surround

Jekyll, and the darkness and evil that follow him, are of utmost importance in this 

Gothic tale, and those negative attributes of his personality that he burried are 

revealed no matter how hard he tried to avoid it. “My devil had long been caged. He 

came out roaring.”

AO3 RESPONSE 5 - THE STRANGE CASE OF DR JEKYLL AND MR HYDE

links to 
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reference to 
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to text
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literary 
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Band 5: 37 marks.
Integrated, assured reference to contexts.
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AO3 RESPONSE 6 - SILAS MARNER

focus

simple implicit 
context

selection and 
discussion
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discussion and 
reference to text

engaged 
discussion

some explicit 
reference to 
context

Band 3: 21 marks.
Focused with an understanding of contexts.
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The Cratchit family play an important role in the novella, as they play the 

kind poor family and the symbol of the noble poor Dickens wished to put 

across. 

At the start of the novel, the character of Bob Cratchit represents the job 

of a clerk, which Dickens wrote a lot about.  He has no name yet, and is 

simply described as ‘the clerk’ as if his significance is little to Scrooge. 

Bob wishes to get more coal, but Scrooge notes it is ‘necessary to depart’

showing how badly Bob is treated by Scrooge. Bob hopes to warm 

himself by ‘a candle’, but is largely unsuccessful. However, the idea of his 

thoughtful nature is put across as he doesn’t want to challenge Scrooge 

again. At the end of the day, Bob instantly leaves the office, showing his 

desire to be with his family again, and how much his family means to him, 

which contrasts with the rich, but emotionally deprived character of 

Scrooge. Bob is also seen to play in the snow, showing his childish and 

happy nature he has, and getting the most out of what he has. 

The family is first presented when Scrooge is shown the whole family on 

Christmas day. The whole scene is described with colourful imagery, as if 

Dickens is eager to take part, showing the emotional warmth the family 

brings. Despite the characters wearing ‘hand me downs’ and described as 

not being a handsome family, the joy they have on Christmas is still high, 

making the most out of what they have. When Bob enters the scene he is 

instantly saddened that Martha isn’t ‘coming’, the repetitive use of 

‘not coming’ showing his somewhat confusion, but when she is revealed, 

he begins to have high hopes again. Tiny Tim is described as being ‘good 

as gold’ and is almost the spirit of Christmas personified. Despite him 

being a cripple, he brings the attention instead to Jesus, who made ‘blind 

beggars walk’. Instead of using his condition as a scapegoat to not work, 

he instead uses it to highlight the importance of religion at the time when 

many Christian values were forgotten and the Industrial revolution had 

taken religion out of many peoples lives due to work. 

The extract extends of the feast the Cratchit’s have, using warming 

imagery in words like ‘fire’, ‘laughed tremendously’ and ‘chestnuts’ all of 

which show the idea of family and Christmas traditions. The centre of 

attention, however is on Scrooge, who is first described as an ‘ogre’ to the 

family, as he is responsible for the trouble the Cratchits face. Despite the

fact that Scrooge is the ogre, Bob is still kind and caring enough to put 

Scrooge as the ‘founder of the feast’ as he was the one who paid Bob, 

despite it being low. His joy of ‘Christmas Day’ is not shared with the rest 

AO3 RESPONSE 7 - A CHRISTMAS CAROL

thoughtful 
reference to 
context
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context 
through 
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of the family, but he is still strong in his feeling. Scrooge, who is present 

at the scene with the spirit is focused on the character of Tiny Tim, as he 

is the centre of the family, and the glue that keeps it together. When the 

Ghost of Chistmas Present describes a 'vacant seat' and the fact the child

‘will die’, Scrooge becomes incredibly upset. Scrooge has no idea of the 

effects of his miserly ways on others, and was completely unaware of how 

much help Tiny Tim needs. Dickens uses this scene to dispell the idea 

that the poor were only poor because they were lazy, and shows they are 

more hard working than the rich owners of factories. 

In the visions of the future, the family is shown to Scrooge again, but is at 

first described as ‘Quiet. Very quiet.’ The use of short sentences creates 

an impactful view on the reader, as if the silence of the family is 

completely unatural to the family. The reader soon learns that the cause 

of the quietness is due to the death of Tiny Tim, that the family is finding 

hard to move on from. Bob Cratchit is unusually quiet and breaks down in 

the scene using the repetition of ‘my little child’ to show how much effect it 

has on his life. Even Scrooge is saddened by the news. Despite being a 

child, Tiny Tim is presented as almost being the heart of the family, and 

his death has left the family struggling. Scrooge is no longer mentioned, 

as if the hatred of Scrooge is not as big as the love the family have of 

Tiny Tim 

thoughtful 
explicit 
reference to 
context

perceptive 
understanding

insightful 
discussion

links to 
context

Towards the end of the novel, when Scrooge has his personality restored, 

he begins by sending the ‘biggest turkey’ to the Cratchits. The first act of 

kindness is one to the family, as if the well being of the family is now 

Scrooge’s priority. The family are delighted to see the change in 

Scrooge’s personality, and they become incredibly close, so much that 

Scrooge becomes a ‘second father’ to Tiny Tim. The end of the novella 

ends with Tiny Tim saying ‘God bless us’ every one’ again, bringing the 

theme of religion to the story. The statement of blessing ‘every-one’ 

contrasts with that in the extract, where Tiny Tim ‘didn’t care’ about 

Scrooge, so the reader comes to question if Tiny Tim really does care 

about every individual, or only says it to appeal to others. 

Band 5: 36 marks.

Sensitive and evaluative understanding and reference to contexts. 
Original discussion of text.
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